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Solutions Worksheet #4: Stoichiometry in Aqueous Solutions

For the questions on this worksheet, consider the following equation:

Pb(NO3)2(aq) + 2 KI(aq) ( PbI2(s) + 2 KNO3(aq)
1)
What type of chemical reaction is taking place? _____________________

2)
How many liters of 0.150 M KI would be required to react completely with 15.00 grams of lead (II) nitrate?

3)
If I combined 12.0 grams of  lead (II) nitrate with 65.0 mL of 0.550 M KI , how many grams of lead (II) iodide would be formed?

4)
What is the limiting reagent from the reaction in problem #3? __________

5)        Show how you came to this conclusion about the limiting reagent?
6)
When aqueous solutions of both lead (II) nitrate and potassium iodide are mixed, a precipitate is formed.  Calculate the mass of lead (II) iodide formed if  1.25 L of  0.0500 M Pb(NO3)2 (aq) is mixed with 2.00 L of  0.0250 M KI (aq).
7) 
What is the limiting reactant from the reaction in problem #6? __________

8)
How many liters of the excess reagent did react in problem #6? (Hint…work backwards from the mass of product.)
